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1.1
1.1.1

1.1.2

- 400
h - 8.000 (m)

FORUM8



1.2
1.2.1
qd
qd =y h
qd : (kN/m*)
y - = 18.00 (kN/m%)
h = 8.000 (m)
qd =y h
= 18.000 x 8.000
= 144.000 (kN/m%)
1.2.2
gl = qlw
2«P-(1+i)-8
qlw =

q

q
P

h
i

B

qlw

gl

2.75+(0.20 +2+h)

1 - (KN/m?)
Iw : (kN/m?)
: = 100.00 (kN)
= 8.000 ()
= 0.000
= 0.900
2P« (1+1i)-8
C2.75-(0.20+2-h)
9 % 100.00 X (1 +0.000) X 0.900
) 2.75 X (0.20 + 2 X 8.000)
= 4.040 (KN/m?)
= qlw

4.040 (KN/n?)

FORUM8



1.3

1.3.1

(k1 * qd + k2 +ql) - t*

k2 :
qd :
ql :

D

ot

i)

ob

ot-=

(0.1070 X 144.000 X 10° + 0.0790 X 4.040 X 107) - 204.50°

Z
(N/mm?)
(N/mm?)
(N/mm?)
= 204.50 (mm)
= 13.50 (mm*/mm)
ot
k1 = 0.1070
k2 = 0.0790
- (k1 * qd + k2 - ql) « 1*
B Z
) 13.50
= 48.72 (N/mm*)
ob
kil = 0.1210
k2 = 0.0110
(k1 = qd + k2« ql) * 1’

Z

(0.1210 X 144.000 X 10® + 0.0110 X 4.040 X 107) - 204.50°

13. 50

54.11 (N/mm?)
48.72 (N/mm*) < o b = 54.11 (N/mm)
o =0h=54.11 (N/mm’)

o = 54.11 (N/mm?)

g a=94.70 (N/mm?)

OK

FORUM8



1.3.2
v
50+ (k3 +qd + kd-ql )1’
B EI
vV o (%)
k3 : = 0.0700
k4 : = 0.0300
qd : (N/mm?)
ql : (N/mm?)
ro: = 204.50 (mm)
El : = 1190700.00 (N.mm?/mm)
50« (k3 +-qd + kd+ql ) -1’
V =
El
50 X ( 0.0700 X 144.000 X 107 + 0.0300 X 4.040 X 107) X 204.50°
B 1190700. 00
= 3.66 (%)
V = 3.66 (%) Va = 5.00 (%) 0K
1.3.3
0
k4 - ql - r'
5 < kral-r
EIL
o : (mm)
k4 : = 0.0300
gl : (N/mm?)
r : = 204.50 (mm)
El : = 1190700.00 (N.mm?/mm)
k4 + ql -+ r'
5 - kiral-r'
El
~0.0300 X 4.040 X 10® X 204. 50
1190700. 00
= 0.178 (mm)
o =0.178 (mm) o a = 10.000 (mm) 0K
1.3.4

o, oga | Nmmw 54.11 94.70 0K

V, Va % 3.66 5.00 oK

0,9da mm 0.178 10.000 OK

FORUM8
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